
Dealing with Negatives 5

−12 + (−79) + (−80) + 59 + (−82) = −194
= −12 − 79 − 80 + 59 − 82
= 59 − (12 + 79 + 80 + 82)
= 59 − 253
= −194
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9 − 74 + 77 − (−58) + 74 = 144
= 9 − 74 + 77 + 58 + 74
= 9 + 77 + 58 + (74 − 74)
= 9 + 77 + 58
= 144
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−3 − 64 + 43 + 100 + 57 = 133
= (43 + 100 + 57) − (3 + 64)
= 200 − 67
= 133
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−6 + 40 + 98 − (−94) + 71 = 297
= −6 + 40 + 98 + 94 + 71
= (40 + 98 + 94 + 71) − 6
= 303 − 6
= 297
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−9 + 7 + 1 − (−10) + 9 = 18
= −9 + 7 + 1 + 10 + 9
= 7 + 1 + 10 + (9 − 9)
= 7 + 1 + 10
= 18
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5 − 9 − 87 − (−53) = 38
= 5 − 9 − 87 + 53
= (5 + 53) − (9 + 87)
= 58 − 96
= 38
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5 − 57 + 31 − (−8) − 44 = −57
= 5 − 57 + 31 + 8 − 44
= (5 + 31 + 8) − (57 + 44)
= 44 − 100
= −57
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